EIBENSTOCK

]
Elektrowerkzeuge Ersatzteilliste ~.

Trenntisch 1200

08/14

Anderungen vorbehalten!




Trenntisch 1200 09802000
Nr. |Bezeichnung Bestelinr. |Stk| Preis | Nr. |Bezeichnung Bestellnr. |Stk| Preis
€/Stk €/Stk
1 |Grundprofil, links 79802913 | 1 | 143,76| 17 |Grundprofil, rechts 79802910 | 1 175,00
2 |Profilhalterung 7660V915 | 2 15,001 18 |[Flachrundschraube M6x20 40600043 | 1 1,00
3 |Gewindeschneidschraube M5x25 | 40600040 | 16 1,00 19 [U-Scheibe 6,4 80201376 | 3 0,50
4 |Grundtafel 766UN925| 1 8,12 20 [Halterung 7660V945 | 1 13,76
5 |Gewindeschneidschraube M5x20 | 80201168 | 4 1,00] 21 |Anschlag 7660V944 | 1 6,26
6 |Winkelanschlag 7660V930 | 1 12,50 22 |[Plastfligelmutter M6 40600045 | 1 3,50
7 |Vierkantmutter M8 40600048 | 1 1,00] 23 |Pafscheibe 9/15x0,5 40600044 | 1 1,00
8 |Flugelschraube M8x16 80201482 | 1 2,50 24 [|Parallelanschlag,kpl.(incl.18-23,27) | 7660V943 | 1 35,00
9 |Flachkopfschraube M4x4 40600085 | 1 1,00] 25 |U-Scheibe 4,3 80201371 | 1 0,50
10 |Sechskantmutter M4 80201019 | 1 0,50 26 [PaRscheibe 8/14x0,2 40600053 | 1 1,00
11 |Moosgummidichtung 7660V965 | 1 4,00] 27 |Steckkerbstift 6x12 40600054 | 1 2,00
12 |Fuhrungsstange 1200 7660V906 | 2 | 97,50 28 |Zellgummiband 1383mm 766UN912| 4 17,50
13 |Splint 3,2x25 40600056 | 4 1,00 29 |Zellgummiband Rolle 10m 40600067 | 1 162,50
14 | Tragerschlitten, kpl. 7660V92U | 1 | 150,00] 30 |PaRscheibe 8/14x1 40600084 | 1 1,00
15 |AnschraubfiiRe 40600038 | 6 2,00f 31 [PaRscheibe 6/12x0,2 | 40600086 | 1 1,00
16 |Schraube 4,2x13 80201270 | 6 0,50

01/16




